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No| BIEE |#HX% i 3 % Bib otk BitiR MELT S %
1 e N KEE 0.08 0.08 - 0.09 -
2 bR REE 0.08 0.09 - 0.10 -
3| 6A22H SEINIENES] 0.10 0.10 - 0.00 0.12
4 HMELE 0.09 0.09 - 0.11 0.09
5 HREKREE 0.07 0.09 - 0.09 0.11
6 BEEE R (EEkis) 0.07 0.09 - 0.08 0.11
7 BETS 0.09 0.09 - 0.10 -
8| 6 A25H MALKE 0.08 0.08 0.08 - -
9 EIRAKEE 0.06 0.07 0.07 0.09 -
10 Yo I7 AR 0.12 0.12 - 0.12 0.10
11| 6818H YGRS A (kR ) 0.09 0.10 - 0.10 0.12
12 o FRDE 0.07 0.07 0.10 0.08 0.08
13 68278 i [AdE#RE T 2— 0.08 0.09 - 0.08 0.08
14 o Ek)IEE AR 0.07 0.08 - 0.09 0.10
15 = A& X AT 0.07 0.08 - 0.07 -
16 HERS R & SR 0.07 0.08 0.09 0.08 0.09
17 H | PIRZEABEODOR 0.08 0.10 - 0.08 0.10
18| 6A21H Eﬁ el B 2R E 0.07 0.08 - - 0.10
19 X |HFMLE 0.08 0.10 0.10 0.11 0.10
20 IB7KE/INERR 0.07 0.07 - - -
21 sl ENREREE 52— 0.08 0.07 0.09 0.09 0.09
22 6H26H my |fEEEE 0.08 0.09 0.10 0.08 0.07
23 Mo |Amwe X 0.08 0.08 0.08 0.08 0.08
24 = AR RN EEFEKS) 0.08 0.08 0.08 0.09 0.08
25 B |kEREEI— 0.07 0.08 - 0.07 0.08
26| 6 A27H % BEAEHESL LA E 0.09 0.09 - 0.09 0.09
27 X | BREREXFR 0.09 0.09 - 0.09 0.09
28| 68218 |dtE |[ToZYH/R—4 0.08 0.08 0.08 0.09 0.10
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